
6. Exploded View & Parts List

6-1 HCN4226WX/XAA

Exploded View & Parts List

Samsung Electronics 6-1

1 BP91-00006Q ASSY-FRONT MASK;42W8,SV012P,HIPS,HB,GRY, 1 T0004 S.N.A
2 BP64-00199A BADGE-BRAND;PJLCD,AL,T1.5,72,12.5,,DGN-S 1 T0057 S.N.A
3 AA67-00207A SCREEN-FILTER;,T=82%,9,G=110,AG 1 T0052
4 AA67-00193A SCREEN-TINT;42W,958*550,T=0.7,P 1 T0056
5 AA67-00193B SCREEN FRESNEL;42W,960*552,T=2.0 1 T0053
6 BP61-00025D BRACKET-SCREEN,ASSY(R);42W5,SECC,T1.0,NE 1 S.N.A
7 BP61-00023E BRACKET-SCREEN,ASSY(TOP);42W5,SECC,T1.0 1 S.N.A
8 BP61-00026D BRACKET-SCREEN,ASSY(L);42W5,SECC,T1.0,NE 1 S.N.A
9 BP61-00024E BRACKET-SCREEN,ASSY(BOT);42W5,SECC,T1.0, 1 S.N.A
10 AA60-10011A SCREW-TAPTITE;-,SWRCH18A,M4,L12,HH,+,PC, 20 T0081 S.N.A
11 BP91-00005D ASSY-CABINET,WOOD;,WOOD,MIJU,42W5 1 T0257 S.N.A
12 BP64-00029A INLAY-SUPPORT;42W5,PS SHEET,T0.5,94V0 1 S.N.A
13 6005-001003 SCREW-WOOD;HH,+,M4,L19,ZPC(BLK),SWRCH18A 2 HC+CW S.N.A
14 BP64-00230A CABINET FRONT-BOT;42W8,HIPS V0,GRAY,SV70 1 S.N.A
15 BP64-00231A KNOB POWER;42W8,ABS,HB,GRAY,AL 1 T0023 S.N.A
16 AA61-60003A SPRING ETC-CS;-,SUS304,-,-,OD7,N7,OD7,-, 1 CIS7 S.N.A
17 BP61-00273A HOLDER-RING;42W8,ABS,GRAY,AL 1 S.N.A
18 BP61-00272A HOLDER-PCB POWER;42W8,ABS,SMOG,6G 1 S.N.A
19 BP94-00515A ASSY PCB MISC-POWER-SW;HCN4226WX/XAA,P55 1 T0097
20 6003-001019 SCREW-TAPTITE;RH,+,B,M4,L12,ZPC(BLK),SWR 2 T0081
21 BP64-00233A KNOB CONTROL;42W8,ABS,HB,GRAY,SVM1132 1 T0022 S.N.A
22 BP64-00232A WINDOW-RMC;42W8,ABS,HB,CLEAR 1 S.N.A
23 BP94-00505Z ASSY PCB MISC-CONTROL;HCN4226WX/XAA,P55A 1 T0098
24 6003-001019 SCREW-TAPTITE;RH,+,B,M4,L12,ZPC(BLK),SWR 3 T0081
25 AA61-01128C HOLDER-SIDE AV;42W5,ABS HB,G3676,SV-704P 1 S.N.A
26 AA64-02780C DOOR-AV;42W5,ABS HB,G3676,SV-704P 1 T0150
27 AA61-01133A VELCRO-B;COMMANDO,BST1 1/4H 1 S.N.A
28 6003-001019 SCREW-TAPTITE;RH,+,B,M4,L12,ZPC(BLK),SWR 1 T0081
29 BP59-00005A MODULE-FOCUS PACK ASS’Y;PJT TV,F301-P03A 1 T0103
30 BP91-00423A ASSY PRT;HCM4215WX/XAA,P55A,ASSY-PRT 1 S.N.A
31 AA60-00072B SPACER-COVER,DUST;43,54,62J9,SPONGE 94HF 1 S.N.A
32 AA26-00101A TRANS FBT-H/V DISTRIBUTOR;FWZ50A001E/FFA 1 T0118
33 AA94-08270A ASSY PCB MISC-DY JACK;COMMANDO 1 T0105
34 AA95-02002A ASSY SUB-PCB,CG AMP;COMMANDO 1 T0094
35 AA67-00204A MIRROR-FRONT;42W5,FSM,870*633*446 1
36 BP61-00008A BRACKET-MIRROR,ASSY;42W5,SECC,T1.0,01123 2 T0068 S.N.A
37 6003-001026 SCREW-TAPTITE;RH,+,B,M4,L15,ZPC(BLK),SWR 4 T0081 S.N.A
38 AA64-02728A CABINET-BACK,TOP;42W5,HIPS,HB,G4309 1 T0112
39 6003-001026 SCREW-TAPTITE;RH,+,B,M4,L15,ZPC(BLK),SWR 7 T0081 S.N.A
40 AA64-02729B CABINET-BACK,BOT;42W5,HIPS,V0,G4309 1 T0112
41 6005-001003 SCREW-WOOD;HH,+,M4,L19,ZPC(BLK),SWRCH18A 3 HC+CW S.N.A
42 BP96-00038H ASSY COVER P-TERMINAL,ANT;WIDE PJT,HIPS 1 T0092
43 6003-001026 SCREW-TAPTITE;RH,+,B,M4,L15,ZPC(BLK),SWR 4 T0081 S.N.A
44 BP94-00498A ASSY PCB MAIN;HCN4727WX/XAA,P55A 1 T0073

No Code No Description;Specification Q’ty Remark S.N.A

You can search for the updated part code through ITSELF web site.
URL : http://itself.sec.samsung.co.kr



Exploded View & Parts List

6-2 Samsung Electronics

6-2 ST54T8PCS/XAX

1 BP96-00338B ASSY COVER P-FRONT MASK;DP,BP64-00164E,5 1 S.N.A

2 AA67-00130A SUN SCREEN-AG;54J8,1125*853*,T=82%,G=110 1

3 AA67-00199A SCREEN-TINT;54,1123*852,P=0.5,DNP 1

4 AA67-00116B SCREEN FRESNEL;53,1125*854,T2 1

5 6005-001003 SCREW-WOOD;HH,+,M4,L19,ZPC(BLK),SWRCH18A 6 S.N.A

6 BP96-00342A ASSY MISC P-BRKT SCREEN RL;DP,BP61-00190 2 S.N.A

7 BP96-00342A ASSY MISC P-BRKT SCREEN RL;DP,BP61-00190 2 S.N.A

8 BP96-00341A ASSY MISC P-BRKT SCREEN TB;DP,BP61-00189 2 S.N.A

9 BP96-00341A ASSY MISC P-BRKT SCREEN TB;DP,BP61-00189 2 S.N.A

10 6009-001296 SCREW-SPECIAL;BH,+,-,M4,L12(11),ZPC(BLK) 22

11 BP96-00339B ASSY COVER P-FRONT BOT;DP,BP64-00151D,54 1 S.N.A

12 6005-001003 SCREW-WOOD;HH,+,M4,L19,ZPC(BLK),SWRCH18A 6 S.N.A

13 BP96-00340A ASSY COVER P-DOOR RACK;DP,BP64-00154A,54 1 S.N.A

14 6002-000522 SCREW-TAPPING;TH,+,2,M4,L15,ZPC(BLK),SWR 3

15 BP98-00192A ASSY K/D-WOOD;54T8,WOOD 1 S.N.A

16 BP94-00519A ASSY PCB MAIN;ST54T8PCS/XAX,P55A,MEXICO 1

17 BP98-00181A ASSY K/D-CPT R;ST54T8PCS/XAX,P55A 1

18 BP64-00153A CABINET-BACK,SIDE R;54T8,HIPS,HB,BLK 1

19 AA65-00023A TERMINAL-BOARD,ANT;,HIPS V0,BLK 1 S.N.A

20 BP64-00153B CABINET-BACK SIDE L;54T8,HIPS,,,,HB,BLK, 1

21 BP61-00180C HOLDER-POWER;HIPS,T8,Q7,V0,BLK 1 S.N.A

22 BP64-00152A CABINET-BACK,BOT;54T8,HIPS,HB,BLK 1

23 AA61-01134A HOLDER-MIRROR,BOT;43,54T6,HIPS HB,BLK 1 S.N.A

24 AA67-00080A MIRROR-BACK;54J8,GLASS,940.5*684.5*674.5 1

25 AA91-00489B ASSY-BRKT,MIRROR;-,-,SECC-1 T1.0,54J8 1

26 AA91-00887A ASSY-HOLDER,MIRROR(R);,HIPS HB BLK,INLAY 1 S.N.A

27 AA91-00887B ASSY-HOLDER,MIRROR(L);,HIPS HB BLK,INLAY 1 S.N.A

28 AA64-01379B CABINET-BACK,TOP;54J8,HIPS,-,-,-,HB,BLK, 1

29 AA64-60449B INLAY-COVER;SP-434JMF,PS,T0.5,149.3X69.5 1 S.N.A

No Code No Description;Specification Q’ty Remark S.N.A

You can search for the updated part code through ITSELF web site.
URL : http://itself.sec.samsung.co.kr



Exploded View & Parts List

Samsung Electronics 6-3

6-3 HCN4727W5S/XAA

1 BP64-00201A CABINET FRONT-MASK;47W7,HIPS HB,GRY,DGM1 1 T0017 S.N.A

2 BP64-00202A CABINET FRONT-BOT;47W7,HIPS V0,G4309,SV0 1 S.N.A

3 AA67-00136A SUN SCREEN-AG;47W,1072*614*,T=82%,G=110 1 T0110

4 AA67-00119B SCREEN FRESNEL;47W,1072*614,T2 1 T0053

5 AA67-00196A SCREEN-TINT;47W,1070*612,T=0.7,P 1 T0056

6 BP61-00350A HOLDER-SCREEN TOP ASSY;HIPS,47W7,HB,BLK, 1 S.N.A

7 BP61-00352A HOLDER-SCREEN SIDE ASSY;HIPS,47/55W7,HB, 2 S.N.A

8 AA60-00091T SPACER-FELT;W7,L635,BLK,T0.35,W10 1 T0069 S.N.A

9 BP98-00184A ASSY K/D-WOOD;47W7,XAA 1 S.N.A

10 AA64-02065C CABINET-BACK,SIDE;47.55W3,HIPS V0,BLK 2 T0111

11 BP64-00205A KNOB CONTROL;47W7,ABS HB,G3676,SVM3132 1 T0022 S.N.A

12 AA91-00762D ASSY-JACK,SIDE;,P54A PAL XAA,W3 1 T0014

13 BP98-00174A ASSY K/D-CRT R;HCN4727WSC/XAA,P55A 1 T0026

14 AA60-00072B SPACER-COVER,DUST;43,54,62J9,SPONGE 94HF 1 S.N.A

15 MIRROR-FRONT 1

16 AA61-00783B BRACKET-MIRROR;47W3,SECC,T1.0 1 S.N.A

17 AA61-00879A HOLDER-MIRROR,SIDE(R);47W3,HIPS HB,BLK 1 S.N.A

18 AA61-00879B HOLDER-MIRROR,SIDE(L);47W3,HIPS HB,BLK 1 S.N.A

19 AA61-01134A HOLDER-MIRROR,BOT;43,54T6,HIPS HB,BLK 1 S.N.A

20 AA64-02061B CABINET-BACK,TOP;47W3,HIPS HB,BLK,DO 1 T0112

21 BP64-00203A CABINET BACK-BOT;47W7,HIPS V0,BLK 1 T0015 S.N.A

22 AA61-01127A HOLDER-CHASSIS;COMMANDO,HIPS V0,G4309 1 T0070 S.N.A

23 BP94-00505N ASSY PCB MISC-PWR-DEF;HCN4727WX/XAA,P55A 1 T0097

24 BP94-00500C ASSY PCB MAIN;HCN4727WSC/XAA,P55A 1 T0073

25 BP96-00077L ASSY COVER P-TERMINAL,ANT;DP WIDE PJT,HI 1 T0092

No Code No Description;Specification Q’ty Remark S.N.A

You can search for the updated part code through ITSELF web site.
URL : http://itself.sec.samsung.co.kr


